Name

Date

Chapter Test

Class

Il Form A

Select the best answer.

1. The graph below shows how far Andrea

was from her home in miles from 1 p.m.
to 5 p.M. Based on the graph, which
statement is true?

A

Distance (miles)
w
T

1

0 _ | | >
1pM. 2pPM. 3PM. 4pPM. 5pPM.

Time

A Andrea was at home at 3 P.wm.
B Andrea was not at home at 3 p.Mm.

. Which words could be represented by

the function g(s) = 3s?

A A balloon rises 1 foot per second.
B A balloon rises 3 feet per second.

. Which function could represent the data
in the table below?

b's =5 0 2 >
| -2 3 0 8
A f(x)=-2
B f(x)=x-3
C fx)=x+3
D f(x) =2x+1
_ (2x ifx=0
4. Bvaluate fOO =175 O 0
at x = 0.
A f(0)=-2
B f(0)=0
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5. The cost to deliver a package that
weighs less than or equal to 5 pounds
is $2.00. If a package weighs greater
than 5 pounds and less than or equal
to 10 pounds, the cost is $10.00. For
packages heavier than 10 pounds,
the cost is $20.00. Which function
best represents the cost of shipping a

package?
0 f0=p=5
A cp)y=i5 if5<t=10
10 ift>10
|2 f0=p=5
B P =110 if5< 1= 10
2 f0=p<5
Ccp)={10 f5=t<10
20 ift=10
2 f0=p=5
D cp) =110 if5<t=10
20 ift>10
: _ [3x if x>0 P
6. Given f(x) = [x— 5 ifx=0" which is

the rule for g(x), a vertical translation of

f(x) 4 units down?

no = [ ez
o o0 =(35 1274
c o= 1128
0 oo =[5 1128

. f(x) = 3x + 6and g(x) = %f(x). What

is the y-intercept of g(x)?
A (0,3)
B (0,12)

Holt Algebra 2



Name Date Class

Chapter Test
I Form A continued

8. f(x) = [)2( —7 "; X i 8 and 14. Use composition to determine if
X hx= f(x) = 3xand g(x) = —3x are inverses.
g(x) = f(3x). What is g(x)? A No, they are not inverses.
A gx) = [)2(x_+43 :]‘: §2 8 B Yes, they are inverses.
B g(x) = [3X —21 ifx>0 Use constant differences or ratios to
6x if x=0 determine which parent function would
C gx) = [Sx -7 ifx>0 best model the given data set.
6x ifx=0 15
_[3x ifx>0
Dg(X)_[SX if x=0 x| 2| 4|68 |10]12
9. Given f(x) = 5x — 3 and g(x) = 6x + 2, y| 5 | 10| 15[ 20 | 25 | 30
find (f+ g)(x).
A 11x—1 B 11x+5 A exponential C quadratic
10. Given f(x) = 2x + 5 and g(x) = 3x — 4, B linear D square root
find (gf) (x). 16.
A Sx x|-8|-4] 0| 4| s]16
B 6x* — 20
C 6x°+7x—20 y| O 1 3 6 | 10 | 15
D 6x° + 23x + 20 _ _
_ _ A exponential C quadratic
11. S(I\;?an);,()() = x — 3 and g(x) = 4x, find B linear D square root
A3 C 21
B 12 D 24
12. Given f(x) = 3x — 6 and g(x) = 5x, find
g(f(x)).
A 15x -6 B 15x — 30
13. Which is the inverse of f(x) = x — 37
_ 1 - _
Ay=— 3 Cy=—-—x+3
By=-x—-3 Dy=x+3
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Name

Chapter Test

Date Class

I8 Form B
Select the best answer.

1. The graph below shows how far Lisa
was from her home in miles from 1 p.m.
to 5 p.M. Based on the graph, which
statement is true?

A

)]

IN

Distance (miles)
n w
T T

T

0 | | | >
1pM. 2pPM. 3PM. 4pPM. 5pPMm.

Time

A At 2 p.m., Lisa was getting closer to
home.

B Between 4 and 5 p.m., Lisa was
getting closer to home.

C Lisa was at home at 1 pP.Mm.
D Lisa was at home at 3 pP.Mm.

2. Which words could be represented by
the function h(t) = 100 + 20t?

F John has $20 in his bank account. He

plans to deposit $20 each month.

G John has $20 in his bank account. He

plans to deposit $100 each month.
H John has $100 in his bank account.

He plans to deposit $20 each month.

J John has $100 in his bank account.
He plans to withdraw $20 each
month.
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3. Which function could represent the data

in the table below?

S -10 —4 0 7
t —200 | —80 0 140
A s(t) = 20s C t(s) = 20s
B s(t) = 20t D t(s) = 20t
2x ifx=0
. Evaluate f(x) = { 2 ifo<x=<1
x—2 ifx>1
at x = 1.
F f(1) =1 Hf1)=6
G f(1)=3 J f1)=9

. A car is driven 30 mph for 2 hours,

55 mph for the next 5 hours, and

20 mph for the next hour. Which function
best represents the distance the car
traveled?

30 fo=st=2
A dit)=1{55 if2<t=7
20 f7<t=8
30t f0=s=t=2
B d(t) ={55¢t ife<t=7
20t f7<t=8
_ |30t fo=st=2
CdD=155—50 if2<t=7
30t fo=t=2
D d(t) ={55t—-50 if2<t=7
20t + 195 if7<t=8
: _Ix+5 ifx>0 P
. Given f(x) = {3x+ 5 if x = O,WhICh is

the rule for g(x), a horizontal translation
of f(x) 3 units left?

_[x+2 ifx>3
F g<x>_[3x—4 if x < 3

_(x+8 ifx>-3
Gg(x>_[3x+8ifx£—3

_|Ix+ 8 if x> —3
Hg(X)_[3x+14 ifx = —3
J g(X):[X+8 ifx>0

3x+ 14 ifx=0
Holt Algebra 2



Name Date Class

Chapter Test
9 Form B continued

2
7. f(x) = 12x — 6 and g(x) = 2f(x). What 13. Which is the inverse of f(x) = %?
is the y-intercept of g(x)?
A (0, —12) C (0,12) Ay=—7=Véx
By=-7*6Vx

_ 1
506 D (ho) A
y=———"%
_[3x+9 if x> 6 _ B L
8. f(x) {—12x—15 ifoGandg(X) Dy=6(x+7)
f(%x). What is g(x)? 14. What are the domain and range of the
. . 1
X+ 9 if x> 2 inverseof y = — + 17
Fobo= [ 4x — 15 ifx=2 VX
+9 " 6 F D:R;R:y=0
>
G glx) = [X |If§56 GD:R;R:y>0
HD:x=0;R:R
H a(x) X+ 3 if x> 2 _ .
g [ 4x if x<?2 J D:ix#1,Ry>0
J glx) = [ I :;;(Zg Use constant differences or ratios to

determine which parent function would
9. Given f(x) = 2x* — 3x + 2 and g(x) = best model the given data set.
7x + 4, find (f+ g)(x). 15

A2x*—4x+6 C 2x°* +10x + 6
B2x°+4x+6 D 9x*+x+2 x | 3 | 7 | M| 1519 |23

64 [ 96 | 144 | 216 | 324 | 486

10. Given f(x) = 3x* + x — 1 and g(x) =
4x + 5, find (gf)(x).

F 3x2 +5x+ 4 exponential
G 12x° + 4x® — 4x linear
H12x* +19x°* + x — 5 quadratic

goow>» |S

J 12x3 + 19x* + 9x — 5 square root

11. Given f(x) = 5x — 3 and g(x) = x?, find 16.

gf(2)). x | 0ol 5 10152 |25
A7 C 32
B 17 D 49 y | 34|41]|60]|91]|134]189

12. Given f(x) = 4x + 3 and g(x) = L—x

F exponential

find g(f
ind g(7x)). G linear
F 1 —14x H quadratic

—-3x + 16 J square root
G —=°XT 16

4 - x

4x + 3
H 4 — x
g —4x7+13x+ 13

4 —x
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Name Date Class

Chapter Test

‘Ml Form C
Select the best answer. Asih=(t—1)35 Ct(s)=s+1
1. The graph below shows how far Carol B s() =5 — 1 D t(s) = (t— 1)3

was from her home in miles from 1 p.m. i x =<0
to 5 p.M. Based on the graph, which _|eosx x=
statement could be true? 4. Evaluate f(x) = x> if0<x=f

f(x)=|2x + 3 fa<x=<b is
-3x+18 ifb< x

N
I

e if x> 1
A atx=1In1.
s F fn1) = —1 H f(n1) =1
G fin1) =0 J fn1) =¢°

34 5. The piecewise function
€
£ 1 5 .
3 o iy ifx=a
]
g

continuous. What are a and b?
A a=-5b=6

T

0 x x x

\/

1pM. 2PM. 3PM. 4PM 5pM. B a-= —1,b:3
Time Ca=1b=9
_5 4_

A Between 1 and 2 .M., Carol was less Da=70b=18

than 1 mile from home. 5 "
B At 1 p.m., Carol was at home. 6. Given f(x) = gxi 2 ilf ))g; 8 , which is
C At2p.m., Carol was not moving. the rule for g(x), a vertical stretch of f(x)
D At 4 p.m., Carol began walking home. by a factor of 4, followed by a vertical

. . n
2. Which situation could be represented by translation 7 units up?

the function f(x) = 25 — x*?

F A feather, 25 feet in the air, drops 1
foot per second.

G A population begins at 25 and
increases exponentially over time.

_[x¥*+13 ifx>0
F 90 =154 13 ifx=0

_|4x®*+7 ifx>0
G 9X) =lo0x+7ifx=0

H A5 inch by 5 inch piece of metal has H g(x) = 4x* +17 if x>0
a x inch by x inch square removed 20x + 17 if x=0
from it.

4x* + 31 if x>0
20x+ 31 ifx=0

J John has 25 gallons of paint. Each J gl =

day he uses 2% of the paint.

7. f(x) = 7x — 14. g(x) = af(x), the
x-intercept of g(x) is (2, 0), and the
y-intercept of g(x) is (0, —70). What

3. Which function could represent the data
in the table below?

s —1 0 1 3 is a?
A a= —56 Ca=Z
t 0 1 2 28 2
B a=1 D a=>5
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Name

Date Class

Chapter Test

10.

1.

12.

. Given f(x) = ——
X

Level C continued

f(X):(2)2(—7'ifX>6
x“—1ifx=6
f(x + 3). What is g(x)?
2x—7 ifx>9
x> -1 ifx=9
2x — 1

x° +6x+8

and g(x) =

F glx) =

Gg(X): if x>6

ifx=6

2x — 1

x° +6x+8

2x — 4

X2 +2
1

if x>9

H gx) =
g ifx=29

if x>6

J glx) =
g ifx=6

_ 1
— and g(x) = 5 =7

find (f — g)(x).

1 c2&x—7
2x® — 3x — 14 X+2

x—9
2x? — 3x — 14

3x—5
2x% — 3x — 14

Given f(x) = 3x® + 16x — 12 and g(x)

= 3x — 2, find (é)(x).

F x—6
Gx+6
H 3x% — 13x — 10

J 3x2+§x+6

Given f(x) = 7x — 2, g(x) = x°, and
h(x) = x* — x, find f(g(h(2))).

A8 C 56

B 54 D 132

2 2
Given f(x) = X? g(x) =%, and h(x) =
4x — 3, find h(f(g(x))).

F 2 H 16 — 48x + 9x*
X2 2x?
8 — 3x7 16 — 4x°
G J 12— axX
X2 x*
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13. Which is the inverse of y=x° + 10x + 25?

14.

15.

_ 1
Ay_x2+10x+25
By=-5*xvx
Cy=-x>—10x—-25
Dy=x-5

What are the domain and range of the
inverse of f(x) = In(x + 2)7?
F D:x>0;R:y> -2
GD:x>0;R:y>0
HD:R;R:y>-2

J DR;R:R

Use constant differences or ratios to
determine which parent function would
best model the given data set.

16.

x |—-381[-24|-17|-10| -3 | 4
27 | 9 4 8

Y1%|2]°%12]3]5s

A exponential

B linear

C quadratic

D square root

The data in the table below are best
modeled by a square root function. What
do a and b equal?

3891470| a |71.3|87.5|106.4

-6 | —1 b 9 14 | 19

Fa=81,b=4
G a=135b=4
Ha=551,b=4
J a=578,b=4

Holt Algebra 2



Name

Date Class

Chapter Test

Il Form A

1. The graph below shows how much
gasoline was in a car’s gas tank during
the course of 5 days. On what day was
gas added to the tank?

A

8

6 N\

Gallons of Gas in Tank

| | | 5
TUE WED THU

FRI
Day

MON

2. Describe a situation that could be
represented by the function d(w) = 7w.

3. Write a function that could represent the
data in the table shown below.

X -9 0 3 15
f(x) -5 4 7 19
_ |5x ifx=2
4. Evaluate f(x) = 4+ 7 if x> 2 at

X = 2.
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5. Graph the function
f(X)=2 if—00<XS—2_

Ix+3 if-2<x<w

2

=10.i=8..26..=4..-2.0
fed R

]

: _|x ifx>0
6. Given f(x) = o if x <0

for g(x), a vertical translation of f(x)
3 units up.

, write the rule

7. Given f(x) = x + 4 and g(x) = 2f(x),
what are the x- and y-intercepts of g(x)?

x+3ifx<O0
12x ifx=0

= f(2x), write the rule for g(x).

8. Given f(x) = and g(x)

9. Given f(x) = 3x + 7 and g(x) = 5x + 4,
write the rule for (f + g)(x).

Given f(x) = x* and g(x) = 6x, write
the rule for (gf)(x).

10.

Holt Algebra 2



Name

Date Class

Chapter Test

11.

12.

13.

14.

Il Form A continued

Given f(x) = 3xand g(x) = x — 2, find
g(f(5)).

Given f(x) = x + 4 and g(x) = 7x, find
g(f(x)).

Write the inverse of f(x) = 6x.
Determine whether it is a function, and
state its domain and range.

X

Determine by composition if f(x) = 5

and g(x) = x° are inverses.

Copyright © by Holt, Rinehart and Winston.
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Use constant differences or ratios to
determine which parent function would
best model the given data set.

15.

X 1 4 7 10 | 13 16

y 15 | 17 [ 19 | 21 | 23 25

16.

Holt Algebra 2



Name Date Class
Chapter Test
Il Form B
1. Describe a situation that could be 5. Graph the function
reflected in the graph shown below, which 2 if —o< x=-2
shows how much gasoline is in a car’s foo =11x+ 3 if —2 < x=1
gas tank during the course of 5 days. 2 - 35
—=X + == if1<x<ow
A 8 8
n y
= 8 A
ﬁ 10
£ 6 8
" .
© LB
o _
S 41 ')
2 2
2 [
8 2 *0.8 64 20| 2 4 6 8.1 "
f -2 ;
| | L, -4
MON TUE WED THU FRI B
Day '

2. Describe a situation that could be

represented by the function g(t) = —250

+ 5t

3. Write a function that could represent the
data in the table shown below.

t -9 0 3 15
w -3 0 1 5
5x ifx=-2
4. Evaluate f(x) = {43 if —2<x<?2
X+7 ifx=2
at x = 2.
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\/

if x>0

. _x=7 .
6. Given f(x) = oy — 7 ifx=0" write the
rule for g(x), a vertical translation of f(x)

5 units up.

Given f(x) = %x + 4 and g(x) = 3f(x),
what are the x- and y-intercepts of g(x)?

4x + 3 if x<8
—12x + 16 if x=8

g(x) = f(4x), write the rule for g(x).

Given f(x) = and

Given f(x) = 3x® + 2x — 5 and g(x) =
—6x — 2, write the rule for (f — g)(x).

10. Given f(x) = 2x* — 3x + 4 and g(x) =

—x + 7, write the rule for (gf) (x).

Holt Algebra 2



Name Date Class

Chapter Test
9 Form B continued

11. Given f(x) = x* and g(x) = 8x — 15, Use constant differences or ratios to
find g(f(3)). determine which parent function would
best model the given data set.
1 15.

12. Given f(x) =
find g(f(x)).

and g(x) = 3x + 5,

X+ 2
X 1 4 9.1 116.3|25.6| 37

13. Write the inverse of f(x) = +(x — 4)2,
Determine whether it is a function, and
state its domain and range.

16.

14. Determine by composition if

f(x) = —%x —6and g(x) =3x+ 6

are inverses.
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Name

Date Class

Chapter Test

Il Form C

1. Draw a graph showing how much
gasoline is in a car’s gas tank during the
course of 5 days if the following is true:
The car was driven all day Monday. On
Tuesday, the car was not driven. On
Wednesday the car was driven until it
ran out of gas. On Thursday morning
gas was added to the car, and it was
driven all day.

—10..-8..-6..-4..-2.0 2..4..6..8.10
fed LR

2. Describe a situation that could be
represented by the function f(x) =
x(2x)(5x).

3. Write a function that could represent the
data in the table shown below.

t -3 0 3 7

w 10 1 10 50

2x if x= -3
4. Evaluate f(x) = {x®> + 2 if -3 < x< 3

xX+2 ifx=3
at x = V2.

Copyright © by Holt, Rinehart and Winston.
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5. Graph the function

2 if —o< x= -2
fx)=|x2 _ o if —2 < x<1
%x—% if1 < x< oo
y

—10..-8..-6..-4..-2.0 2...4...6..8.10
i ) H o

~4

Lt

2 .
6. Given f(x) = (X, * 8 if x>0 \write the
xX'+8ifx=0

rule for g(x), a vertical stretch of f(x)
by a factor of 3, followed by a reflection
across the x-axis.

7. f(x) = 6x + 5. g(x) = af(x), the

x-intercept g(x) is —é, 0), and the
6

y-intercept of g(x) is (0, 25), What is a?

8. Given f(x) = {4X +3 X <8 gnq g(x)

X2 ifx=8

= f(x + 2), write the rule for g(x).

1

; _ 1
9. Given f(x) = T

X+ 3
write the rule for (f + g)(x) .

and g(x) =

Holt Algebra 2



Name

Date Class

Chapter Test

1.

12.

13.

14.

9 Form C continued
10.

Given f(x) = x* + 3x — 10 and
g(x) = x + 5, write the rule for (f)(x).

Q|

Given f(x) = x*, g(x) = 8x — 10, and
h(x) = 7x — 19, find f(g(h(3))).

- _ 1 _
Given f(x) = <7 g(x) =3x+ 5, and
h(x) = x2, find h(f(g(x))).

Write the inverse of f(x) = e* 2.

Determine whether it is a function, and
state its domain and range.

Determine by composition if

_ 1 _1-2x
f(x)—X+2andg(x)—X—

are inverses.
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15. Use constant differences or ratios to
determine which parent function would
best model the given data set.

x | -7 2 11 [ 20 | 29 38

y 5 15 | 45 [ 135|405 | 1215

16. The data in the table below are best
modeled by a quadratic function. What
do a and b equal?

x |—-12| -8 | a 0 4 8

y |-32|-27| b | -5| 12| 33

Holt Algebra 2



Answer Key continued

21.
22.
23.
24.
25.
26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.

m >» <« 0 O O m>» <~ O T >» M > I O

>

CHAPTER 9

Section Quiz: Section A
1. C

o o B ® N
« W I ™ T

Section Quiz: Section B
1. D

o o B w N
m O M O <
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—r
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7.
8.
9.
10.

© © ® N9 o N
W > 0 T O >0 >» 00 WO

-t
-t
.

12.
13.
14.
15.
16.

© © ® N o o & Db
I W ® >» T U< O I

A
H
B
J

Chapter Test Form A
1.

A

(@]

Chapter Test Form B
1.

D
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Answer Key continued

1.
12.
13.
14.
15.
16. H

> O >» T O

Chapter Test Form C
1. C
2.

© ® N o o o
T

< >» T ©® O W G ® O O« W T >

10.
11.
12.
13.
14.
15.
16.

Chapter Test Form A
1. Thursday

2. Answers may vary. Sample answer: How

many days are there in w weeks?
3. fx)=x+4
4. f(2) =10

Copyright © by Holt, Rinehart and Winston.
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_[x+3 iftx>0
- 90 = [2x+ 3ifx=0
. x-intercept: —4; y-intercept: 8

6
7

_|2x+3 ifx<O0
8. g(X)_[24x if x=0
9. (f+g)(x) =8x+ 11
0

. (ghHx) = 6x°

1. g(f(3)) = 13

12. g(f(x)) = 7x + 28

13. y = g, it is a function, D: R; R: R
14. They are not inverses.

15. linear

16. quadratic

Chapter Test Form B

1. Answers may vary. Sample answer: A
car ran out of gas on Thursday, then 8
gallons were added to the tank.

2. Answers may vary. Sample answer: A
submarine is 250 feet below sea level
and rises 5 feet per second.

3. w(h) = §t or t(w) = 3w

4. f(2) =9
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Answer Key continued

(x—2 ifx>0
6. g(X)_{zx—z if x<0

7. x-intercept: —12; y-intercept: 12

_[16x+3  ifx<8
8. g(X)_{—48x+16 if x= 8

9. (f—g)(x) =3x*+8x—3
10. (gf)(x) = —2x° + 17x® — 25x + 28
11. g(f(3)) = 57
_5x+ 13
12. g(f(x)) = T

13. y = =3VvX + 4, it is not a function,
D: {x|x=0}; R: R

14. They are not inverses.
15. square root

16. linear

Chapter Test Form C

1. Answers may vary. Sample graph:

A

_ A

| | | 5
MON TUE WED THU FRI
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All rights reserved.

319

9.
10.
11.
12.

13.

14.
15.
16.

. Answers may vary. Sample answer: The

volume of a box whose length is x, width
is twice the length, and height is 5 times
the length.

3. wih=t*+1ortw) =Vw— 1

. f(V2) =4

2 .
g(x)z[_3X4_24 !fx>0
-3x"—24 ifx=0

a=>5

g(X)=[4)§+11 |fX<8
X“+4x+ 4 ifx=8

_ 2x +5

(ff+ 9N =G Hx T2

(g)(X):X_2

f(g(h(3))) = 36

h(f(g(x))) = — 1

Bx + 7)%
y =3 + In x, it is a function,

D: {x|x>0}; R: R
They are inverses.
exponential

a=—-4,b=-18

Performance Assessment
1.

_8-x.,_3-vy.
) = =T X oy =1
2xy —x=3—-y;2xy + y=3 + X;

_ cy— 1 _ X+3
y@x+1)=3+x;y="f (X)_2x+1
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